SCA

A RAY 27—\
Side Cutter Arbor

AHO _ . .
T RSKAERC @ JSEE7 A ARUVAZIVY —F,

HSKT For JIS side cutter and metal saw.

C

UTS
SR

B &R
Fy1e$b)

<30 H1

Pnyd buliy
NS AN ]
I
=) —

&

ut

%)
e
it
¥
=
—F

T:“l’
i
i
L
I

WESTeTU

19P|OH 19]10D

Ci D1 G C1 G

J3P|OH 0437 .Y
WSSO D

L+ 30>=Hi~

>

L _ul

NeWO7A

PNy dNnespiy

U4 uLys

WEHRQNMER | e =SV p

—
)
°
=3
S
Q@
la)
>
c
a
=

i3k D1 G1 BEHy 4-§

Cutter dia.

Model Type| () Chis

0790 00113075 | BT30 -SCA13 -75 1 13 75120 |M12 X 1.25/15 ] - 3,5,7,8,10,12 17 10.7| 22,000 50
0790 00116075 -SCA16 -75 2 16 75|26 | M14 X 1.5 16| 4 |17.23,5,7,8,10,12 13 22 0.9| 22,000 | 50~ 63
0790 00122075 -SCA22 -75 2 22 75|34 |M20 X 1.5/21 6 |23.6/3,5,7,8,10,12 18|30 |1.2| 22,000 | 60 ~ 125
g 0790 00313060 | BT40 -SCA13 -60 1 13 60 | 20 | M12 X 1.25|15 | - - 13578,10,1212 17 1.4 25,000 50
% 0790 00313090 -90 1 13 90 |20 |[M12 X 12515 | - - 135,7,8,10,12 |12 | 17 |1.7| 26,000 50
3 3 0790 00316075 -SCA16 -75 2 16 75|26 M14 X 1516 | 4 |17.2/3,5,7,8,10,12 13 |22 |1.4| 25,000 | 50 ~ 63
§% 0790 00316105 -105 | 2 16 |105/ 26 ' M14 X 15|16 | 4 | 17.2/35,7,8,10,12| 13 |22 |1.6| 26,000 | 50 ~ 63
In 0790 00322075 -SCA22 -75 2 22 75|34 |M20 X 1.5/21 6 |23.6/35,7,8,10,12 18|30 1.7 | 25,000 | 60 ~ 125
é"'i—? 0790 00322120 -120 | 2 22 /120134 |M20 X 15|21 | 6 |23.6/3,5,7,8,10,12 /18 | 30 | 2.1 | 26,000 | 60 ~ 125
g)‘{/ 0790 00327075 -SCA27 -75 2 27 75140 M24 X2 25| 7 | 29 |35,7,8,10,12 |21 |32 2.0/ 25,000 | 75~ 100
g7 0790 00327120 -120 | 2 27 120 40| M24 X2 |25 7 | 29 |35,7,8,10,12 21 32|24 | 26,000 | 75~ 100
gél" " 0790 00332090 -SCA32 -90 2 32 90 |46 | M30Xx2 |30 8 | 34 |35,7,8,10,12 |26 |41 | 2.6 27,000 | 100 ~ 250
%fé 0790 00513075| BT50 -SCA13 -75 1 13 75120 |M12 X125 /15| - - 13578,10,1212 17 | 4.3 30,000 50
g?g 0790 00513105 -105 | 1 13 105/ 20 |M12 X 1.25| 15| - - 135,78,10,12 12 17 4.4 32,000 50
§;L 0790 00516090 -SCA16 -90 2 16 90 |26 |M14 X 15 16 4 17.2|3,5,7,8,10,12 |13 |22 |4.1| 32,000 | 50 ~ 63
N 0790 00516120 -120 | 2 16 120/ 26 |M14 X 1.5/16| 4 |17.2/3,5,7,8,10,12 |13 | 22 |4.2 | 33,000 | 50 ~ 63
gj 0790 00522090 -SCA22 -90 2 22 90 | 34 |M20 X 1.5/21 6 |23.6/3,5,7,8,10,12 18|30 |4.4| 32,000 | 60 ~ 125
£} ; 0790 00522135 135 | 2 22 135/ 34| M20 X 1.5/21| 6 |23.6 3,5,7,8,10,12 | 18 30 |4.7 | 34,000 | 60 ~ 125
0790 00527090 -SCA27 -90 2 27 90 (40| M24 X2 |25| 7 | 29 |35,7,8,10,12 21|32 4.5 32,000 | 75~ 100
7 0790 00527135 -135 | 2 27 13540 | M24 X2 (25| 7 | 29 |35,7,8,10,12 /21 |32 4.9 34,000 | 75~ 100
ERY 0790 00532090 -SCA32 -90 2 32 90 |46 | M30 X2 |30 8 | 34 |35,7,8,10,12 26 |41 4.9 32,000 | 100 ~ 250
i ? 0790 00532135 135 | 2 32 |135/46| M30 X2 |30 8 | 34 |35,7,8,10,12 |26 |41 | 5.7 | 34,000 | 100 ~ 250
= 0790 00540090 -SCA40 -90 2 40 90 |55 | M36 X 3 |36 10 42.5/3,5,7,8,10,12 |31 |46 |5.9| 32,000 | 150 ~ 315
0790 00540135 -135 | 2 40 |135/55| M36 X 3 |36|10|42.5/3,5,7,8,10,12|31 |46 |6.7 35,000 | 150 ~ 315

3NN

SUOISUAWIQ YURYS [00]

148 BFHmbTABIEEL, /w Specials on request




A1 FHA4XHhy 2
For Inch size

Ema—F b

Code Model Type c

iy

BZhy a1
kg Cutter dia.
Example

0790 01112075 | BT30 -SCA12.7 -75 1 127 | 7520 M12 X 1.25/ 1 3,5,7,8,10,12 22,000

0790 01115075 -SCA15.875 -75 2 | 15.875 |75 |26 M14 X 1.5 16 3.18/17.42| 3,5,7,8,10,12 13 22 1.2 22,000 | 50 ~ 63

0790 01122075 -SCA22.225 -75 2 22.225 | 75|34 M20 X 1.5/ 21 3.18/23.82| 3,5,7,8,10,12 | 18 | 30 | 1.5| 22,000 | 60 ~ 63

0790 01312060  BT40 -SCA12.7 -60 1 12.7 |60 20 M12 X 1.25/ 15| - - 135,7,8,10,12 |12 |17 1.4 25,000 50 %
0790 01312090 -90 1 12.7 |90 20 M12 X 1.25/ 15| - - 135,7,8,10,12 |12 |17 | 1.7 | 26,000 50 e
0790 01315075 -SCA15.875 -75 2 15.875 |75 26 M14 X 1.5 16 |3.18/17.42| 3,5,7,8,10,12 | 13 | 22 | 1.4 25,000 | 50 ~ 63 s
0790 01315105 -105 | 2 15.875 [105 26 M14 X 1.5 16 |3.18/17.42| 3,5,7,8,10,12 | 13 | 22 |1.5| 26,000 | 50 ~ 63 e
0790 01322075 -SCA22.225 -75 2 22.225 |75 34 M20 X 1.5/ 21 3.18/23.82| 3,5,7,8,10,12 | 18 | 30 | 1.7 | 25,000 | 60 ~ 63 RAErkeR
0790 01322120 120 | 2 22.225 |120| 34 M20 X 1.5/ 21 3.18/23.82| 3,5,7,8,10,12 | 18 | 30 | 2.0| 26,000 | 60 ~ 63 71 ¥7H)
0790 01325075 -SCA25.4 -75 2 254 | 75|40 M24 X 2 | 25|6.3527.78| 3,5,7,8,10,12 | 21 | 32 2.0 | 25,000 | 75 ~ 125 =
0790 01325120 120 2 254 120140 M24 X 2 | 256.35/27.78) 3,5,7,8,10,12 | 21 | 32| 2.4| 26,000 | 75 ~ 125 ?l)
0790 01331090 -SCA31.75 -90 2 31.75 |90 46 | M30 X 2 |307.92/34.92 3,5,7,8,10,12 | 26 | 41 | 2.6 27,000 | 100 ~ 250 E;’i
0790 01512075 BT50 -SCA12.7 -75 1 127 | 75|20 M12 X 1.25/ 15| - - 13578,10,12 | 1217 | 4.3 | 30,000 50 E';;
0790 01512105 -105 | 1 12.7 105/ 20 M12 X 1.25/ 15| - - 13578,10,12 | 1217 |4.4 | 32,000 50

0790 01515090 -SCA15.875 -90 2 15.875 |90 | 26 M14 X 1.5/ 16 3.18/17.42| 3,5,7,8,10,12 |13 1 22 /1 4.2| 32,000 | 50 ~ 63 %jl;
0790 01515120 120 | 2 | 15.875 120 26 |M14 X 1.5/ 16 3.18/17.42| 3,5,7,8,10,12 | 13 |22 |4.4 | 33,000 | 50 ~ 63 zh
0790 01522090 -SCA22.225 -90 2 | 22225 |90 |34 M20 X 1.5/ 213.18/23.82| 3,5,7,8,10,12 | 18 | 30 | 4.4 | 32,000 | 60 ~ 63 B
0790 01522135 -135| 2 | 22.225 135/34 |M20 X 1.5 21 |3.18/23.82 3,5,7,8,10,12 | 18 | 30 | 4.7 | 34,000 | 60 ~ 63 )
0790 01525090 -SCA25.4 -90 2 254 |90 40| M24 X 2 | 256.35/27.78) 3,5,7,8,10,12 | 21 1 32 /1 4.5| 32,000 | 75 ~ 125 ;5
0790 01525135 135 2 254 |135/40 | M24 X 2 | 25|6.3527.78| 3,5,7,8,10,12 | 21 | 32 4.9 34,000 | 75 ~ 125 ifl%
0790 01531090 -SCA31.75 -90 2 31.75 |90 46| M30 X 2 | 307.92/34.92 3,5,7,8,10,12 | 26 | 41 | 4.7 | 32,000 | 100 ~ 250 87
0790 01531135 135 2 31.75 13546 | M30 X 2 | 30 7.92/34.92 3,5,7,8,10,12 | 26 | 41 | 5.2 | 34,000 | 100 ~ 250 EP
0790 01538090 -SCA38.1 -90 2 38.1 90 | 55| M36 X 3 | 36 |9.52|42.06| 3,5,7,8,10,12 | 31 | 46 | 4.9 32,000 | 150 ~ 315 §’|f
0790 01538135 135 2 38.1 |135/55| M36 X 3 | 36 |9.52/42.06 3,5,7,8,10,12 | 31 |46 5.9 35,000 | 150 ~ 315 ﬁ%
BT F v FRU 3,57,8,1012 94 ADHS—E& 1 BAFICHELTVET, K
One clamp nut and spacers (size 3, 5, 7, 8, 10, and 12 / one each) are included. § %

I F

T3 Ordering Example i
BT30 - SCA12.7 - 75 PP
JuYIHAX D1 RELLRE (L) 27
Shank size Projection length g §

<A

PIOH uonoun4

WTSHHIIE | VSIS

e
oy

3 01033ds

=\

pNIS uonUARY
AN

I\ A\

SUOISUBWIQ YURYS [00]

BFHmbTABIEEL, /w Specials on request




BT

HSK-A/E/F/C

HSK-T

C
uTS

il

REhEER

7y 578

NN S—1n

Ny Buln

St

<

13P|OH 13]10D

2

13p|OH 0437 4
WSSO

>

NeWO7zA

PNy dlnespAx

HULYS

WEARQNMER [ e =S p

=
o
o
=3
S
Q@
)
=
€
5
=~

J3p|oH uonduny | waysAs |00} aloguniy

MTSHHTTE |V

TRERNT

EJ
o
T
El
=3
)
E]
©
=
c
o

SCA

A KAy 27—\
Side Cutter Arbor

Q@ JSHE7Z A ARUARIVY —H,
For JIS side cutter and metal saw.
L1 =30 H1

o\l

- H3THAE 2 EHIR BT 8 (NBT-AHO ¥ii%) & BT2 E#IREH (WBT-AHO Xib) ICIKE#MELHY FHA. P.049 ZBRIFEEN
A « AHO RIVAICTE Y A=AV = =5V M ALV BELEhE FELY,

+ Our two-face contact BT spindle (for NBT-AHO) is incompatible with BT two-face contact spindle (for WBT-AHO). Please refer to P. 049.

*When AHO is used with center through coolant feeding, please contact NT TOOL.

YL XAhy2H
For metric size

: BEHy 48—
Moo (ﬁ‘ 1| He6 Cutter dia.
Example

NBT-AHO30
3780 * 0010000 or -SCA13 -75 1 M12 X 1.25 3,5,7,8,10,12 26,400
WBT-AHO30
3780 * 0020000 -SCA16 -75 2 16 75 26 M14 X15 16 4 172 3,5,7,8,10,12 | 13 | 22 | 26,400 | 50 ~ 63
3780 % 0030000 -SCA22 -75 2 22 75 134 M20X 15 21 6 | 236 35,78,10,12 | 18 | 30 | 26,400 |60 ~ 125
3780 % 0040000 NBT-g:-I040 -SCA13 -60 1 13 60 20 M12 X 1.25 15 — = 3,5,7,8,10,12 | 12 | 17 | 30,000 50
WBT-AHO40
3780 * 0050000 -90 1 13 90 20 [M12 X 1.25| 15 | — - 3,5,7,8,10,12 | 12 | 17 | 31,200 50
3780 % 0060000 -SCA16 -75 2 16 75 26 M14 X 15 16 4 17.2 3,5,7,8,10,12 | 13 | 22 | 30,000 | 50 ~ 63
3780 * 0070000 105 2 16 105/ 26 M14X15 16| 4 |17.2 | 3,5,7,8,10,12 | 13 | 22 |31,200| 50 ~ 63
3780 * 0080000 -SCA22 -75 2 22 75 34 | M20X 15|21 6 23.6| 3,57,8,10,12 | 18 30 30,000 |60 ~ 125
3780 % 0090000 120 | 2 22 1201 34 |[M20 X 15/21| 6 | 23.6 | 3,5,7,8,10,12 | 18 | 30 | 31,200 |60 ~ 125
3780 % 0100000 -SCA27 -75 2 27 75 40 M24 X2 (25 7 29 | 3,5,7,8,10,12 21 | 32 30,000 |75~ 100
3780 % 0110000 120 2 27 120140 M24 X2 25| 7 | 29 | 3,57,8,10,12 | 21 | 32 |31,200|75 ~ 100
3780 * 0120000 -SCA32 -90 2 32 90 46| M30X2 |30 8 34 | 3,57,8,10,12 | 26 41 | 32,400 |100 ~ 250
3780 % 0130000 NBT.QI!-IOW -SCA13 -75 1 13 75 20 M12 X 1.25 15| — - 3,5,7,8,10,12 | 12 | 17 | 36,000 50
WBT-AHO50
3780 * 0140000 105 1 13 105/ 20 M12 X 1.25 15 | — = 3,5,7,8,10,12 | 12 | 17 | 38,400 50
3780 * 0150000 -SCA16 -90 2 16 90 26 M14 X15 16 4 17.2 | 3,5,7,8,10,12 | 13 | 22 |38,400| 50 ~ 63
3780 * 0160000 -120 | 2 16 120 26 | M14 X 15|16 | 4 17.2| 3,5,7,8,10,12 | 13 | 22 39,600 | 50 ~ 63
3780 % 0170000 -SCA22 -90 2 22 90 34 M20X 15 21 6 | 236 35,78,10,12 | 18 | 30 |38,400|60 ~ 125
3780 * 0180000 135 2 22 135/ 34 M20X 15 21| 6 |23.6  3,57,8,10,12 18 | 30 40,800 |60 ~ 125
3780 * 0190000 -SCA27 90 2 27 90 40| M24 X2 | 25| 7 | 29 | 3,5,7,8,10,12 | 21 A 32 1 38,400|75~ 100
3780 % 0200000 135 | 2 27 135140 | M24 X2 |25 | 7 29 | 3,5,7,8,10,12 21 | 32 40,800 |75~ 100
3780 % 0210000 -SCA32 -90 2 32 90 46 M30X2 |30 8 34 | 3,5,7,8,10,12 | 26 K 41 | 38,400 (100 ~ 250
3780 * 0220000 135 2 32 13546 M30X2 30| 8 | 34 | 3,5,7,8,10,12 | 26 | 41 | 40,800 |100 ~ 250
3780 * 0230000 -SCA40 -90 2 40 90 55| M36 X3 |36 10 425 3,5,7,8,10,12 | 31 | 46 | 38,400 |150 ~ 315
3780 % 0240000 135 | 2 40 135/ 55| M36 X3 |36 | 10 | 425 | 3,5,7,8,10,12 | 31 | 46 | 42,000 |150 ~ 315

BHHERETAGIEEL, M' Specials on request



e R INES::]
For Inch size
BENY 51
BHmd—F B )
e L1 | C1 K1 Cutter dia.
(h6) ll-ﬂﬂ.-nﬂ- Example

NBT-AHO30
3780 3% 0250000 or -SCA12.7 -7 12.7 0 M12 X 1.25 3,5,7,8,10,12 26,400
WBT-AHO30
3780 % 0260000 -SCA15.875-75 | 2 |15.875 75 26 M14 X 15 16 |3.18 | 17.42 |3,5,7,8,10,12 13 | 22 26,400| 50 ~ 63
3780 3 0270000 -SCA22.225-75 | 2 |22.225 75 34 |M20 X 1.5| 21 |3.18 | 23.82 |3,5,7,8,10,12 18 | 30 | 26,400| 60 ~ 63
3780 < 0280000 NBT-Z\:IOM- CA12.7 -60 1 | 127 60|20 M12X1.25 15 — — 13,5,7,8,10,12| 12 17 {30,000 50
WBT-AHO40
3780 3 0290000 90 | 1| 127 90|20 M12X1.25 15| — - 13,5,7,8,10,12| 12 | 17 {31,200 50
3780 < 0300000 -SCA15.875-75 | 2 |15.875 75 26 |[M14 X 15| 16 |3.18 | 17.42 |3,5,7,8,10,12 13 | 22  30,000| 50 ~ 63
3780 3 0310000 -105| 2 (15.875/ 105/ 26 \M14 X 1.5| 16 | 3.18 | 17.42 |3,5,7,8,10,12| 13 | 22 131,200| 50 ~ 63
3780 3 0320000 -SCA22.225-75 | 2 |22.225 75 34 |M20 X 1.5 21 |3.18 | 23.82 |3,5,7,8,10,12 18 | 30 ' 30,000| 60 ~ 63
3780 3% 0330000 -120 | 2 22.225/120| 34 |M20 X 1.5| 21 | 3.18 | 23.82 |3,5,7,8,10,12| 18 | 30 | 31,200| 60 ~ 63
3780 0340000 -SCA254 -75 | 2 | 254 |75 40 M24 X2 | 25|6.35 27.78 |3,5,7,8,10,12| 21 | 32 |30,000|75 ~ 125
3780 3 0350000 120 2 | 254 120 40| M24 X 2 | 25 |6.35|27.78 |3,5,7,8,10,12| 21 | 32 131,200|75 ~ 125
3780 3 0360000 -SCA31.75 -90 | 2 |31.75 90 46| M30 X2 | 30|7.92 | 34.92 3,5,7,8,10,12| 26 41 |32,400|100 ~ 250
3780 3 0370000 NBT-ﬁroso-SCMZJ 75 | 1| 127 75|20 M12X1.25 15| — - 13,5,7,8,10,12| 12 | 17 {36,000 50
WBT-AHO50
3780 3 0380000 105 1 | 12.7 105/ 20 M12X 1.25 15 — — 13,5,7,8,10,12| 12 17 |38,400 50
3780 3 0390000 -SCA15.875-90 | 2 |15.875 90 26 |[M14 X 15| 16 |3.18 | 17.42 |3,5,7,8,10,12| 13 | 22 | 38,400| 50 ~ 63
3780 3% 0400000 -120 | 2 15.875 120 26 M14 X 1.5| 16 | 3.18 | 17.42 |3,5,7,8,10,12/ 13 | 22 39,600| 50 ~ 63
3780 3 0410000 -SCA22.225-90 | 2 |22.225 90 34 |M20 X 1.5| 21 |3.18 | 23.82 |3,5,7,8,10,12| 18 | 30 | 38,400| 60 ~ 63
3780 % 0420000 -135| 2 122.225 135 34 |M20 X 1.5| 21 | 3.18 | 23.82 |3,5,7,8,10,12/ 18 | 30 40,800| 60 ~ 63
3780 3% 0430000 -SCA254 90 | 2 | 254 |90 |40 M24 X2 | 25|6.35|27.78 |3,5,7,8,10,12| 21 | 32 |38,400|75 ~ 125
3780 3 0440000 135 2 | 254 135 40| M24 X2 | 25 6.35|27.78 |3,5,7,8,10,12| 21 | 32 40,800|75 ~ 125
3780 3 0450000 -SCA31.75 90 | 2 |31.75/ 90 46| M30 X2 |30|7.92|34.92 35,7,8,10,12| 26 A 41 |38,400|100 ~ 250
3780 % 0460000 -135| 2 1 31.75 135 46 | M30 X 2 | 30 | 7.92 34.923,57,8,10,12| 26 | 41 /40,800 100 ~ 250
3780 3% 0470000 -SCA381 90 | 2 | 381 90 55| M36 X 3 |36|9.52|42.06 3,5,7,8,10,12| 31 | 46 |38,400(150 ~ 315
3780 3% 0480000 135 2 | 381 135 55 M36 X 3 | 36 | 9.52  42.06 |3,5,7,8,10,12| 31 | 46 |42,000|150 ~ 315
AEmd— R (d NBT-AHO Tl O,WBT-AHO Tl 6 &xW XY,
woFFy FRU 35781012 4 XDAZ—Id& 1 EREIHBLTVET,
One clamp nut and spacers (size 3, 5, 7, 8, 10, and 12 / one each) are included.
T3 Ordering Example T3 Ordering Example
LA 2 EiR BT E#RS BT2 EAFRIRTTIS

Corresponding to our two-face contact BT spindle

REHLRE(L)
Projection length

Corresponding to BT two-face contact spindle

SCA12.7 - 75

WBT-AHO40
AHO ¥+ > 41 X

AHO Shank size

D1

EREHLRE(LY
Projection length

NBT-AHO40 SCA12.7 - 75
AHO Vv U H A4 X D1

AHO Shank size
HHmbTHMIEEY,

Specials on request

BT
AHO
HSK-A/E/F/C

HSK-T

C
uTs

il

RAEttER

7y1FIM)

Ny Bulin

NS N AN}

StreTu

=

J3p|OH 33100

it

StOg ™

=

J3P|OH 0437 Y.,

= N

e4hO7A

¥y dNneipAy

U4 qunys

eIV e | e =3V cp\

=
o
k=]
=3
=
@
)
>
c
s
=~

Al

=

J19pJOH uonduNy | wasAs (00} 810qnINN

puSh e - B BN A

S8

pms uonualzy
TN

251



SCA

A KAy 27—\
Side Cutter Arbor

BT
® JISHET 51 RARUA LY —F o
- I
For JIS side cutter and metal saw. HSK-T
9=5YbHR—=2 L1 30—}« Hi] ¢
Type i W Ha |—2|3 ~ e he uTS
L P e TET TR
..... é E_‘G‘L D\ c c B ER
- - - 1 Di 1 1 R
{ - G C i el )
1 v LASEL .
=
_ 53
Type2 [mcid s L1 30—=H1~] 27
Coolant tube = P
1= 4 rHa~
4(!7 JY B <K L 2 g :Il7
zF
‘} E e T ) ? B ? ? ? § ﬂ:
18 o N S —| —} Gt D1 Ci + Ci C1 | At g5
|t Lt L ] @
\ B B )
- =R
(=]
BEHYRE :
Cutting dia. In
Example st
5540 13013075 | HSK40A -SCA13 -75 1 M12x1.25 — 3,57,8,10,12 28,600 50 i Ec
5540 13016075 -SCA16 -75 2 16 75 | 26 | M14x15 | 16 4 17.2 | 35,7.8,10,12 13 22 28,600 50 ~ 63 zJ
5540 13022075 -SCA22 -75 2 22 75 | 34 | M20x15 | 21 6 236 | 35,7,810,12 18 30 28,600 60 ~ 125 27
5540 13112075 -SCA12.7 75 1 | 127 [ 75 20 [ M12x1.25 [15| — | — [35781012 | 12 | 17 28,600 50 5
5540 13115075 -SCA15.875 -75 2 15875 | 75 | 26 | M14x15 | 16 | 3.18 | 17.42 | 35,7,8,10,12 13 22 28,600 50 ~ 63 @ 1}
5540 13122075 -SCA22.225 -75 2 22225 | 75 | 34 | M20x15 |21 | 3.18 | 23.82 | 35,7,810,12 18 30 28,600 60 ~ 125 El %
5540 14013075 | HSK50A -SCA13 -75 1 13 75 | 20 | M12x1.25 | 15 — — 3,5,7,8,10,12 12 17 29,000 50 5 3'(
5540 14016075 -SCA16 -75 2 16 75 | 26 | M14x15 | 16 4 17.2 | 35,7,8,10,12 13 22 29,000 50 ~ 63 ;/7
5540 14022075 -SCA22 -75 2 22 75 | 34 | M20x15 | 21 6 23.6 | 35,78,10,12 18 30 1.2 | 29,000 60 ~ 125
5540 14112075 -SCA12.7 -75 1 12.7 75 | 20 | M12x1.25 | 15 — - 3,57,8,10,12 12 17 29,000 50 5%
5540 14115075 -SCA15.875 -75 2 15875 | 75 | 26 | M14x15 | 16 | 3.18 | 17.42 | 35,7,8,10,12 13 22 29,000 50 ~ 63 3 5
5540 14122075 -SCA22.225 -75 2 | 22225 75 | 34 | M20x15 | 21 | 318 | 2382 | 357,81012 | 18 | 30 29,000 |60~ 125 87
5540 75013060 | HSK63A -SCA13 60 -H 1 13 | 60 | 20 | MI2x125 15 | — | — | 35781012 | 12 | 17 | 10 | 31,200 50 27
5540 75013090 90 -H 1 13 90 | 20 | M12x1.25 | 15 - — 3,5,7,8,10,12 12 17 1.0 | 32,500 50 25
5540 75016075 -SCA16 75 -H| 2 16 75 | 26 | M14x15 | 16 4 17.2 | 35,7,8,10,12 13 22 14 | 31,200 50 ~ 63
5540 75016105 105 -H| 2 16 105 | 26 | Mi14x15 | 16 4 17.2 | 35,7,8,10,12 13 22 15 | 32,500 50 ~ 63
5540 75022075 -SCA22 75 -H| 2 22 75 | 34 | M20x15 |21 6 236 | 35,7,810,12 18 30 1.8 | 31,200 60 ~ 125
5540 75022120 <120 -H| 2 22 120 | 34 | M20x15 | 21 6 236 | 357,810,112 18 30 1.8 | 32,500 60 ~ 125
5540 75027075 -SCA27 75 -H| 2 27 75 | 40 M24x2 25 7 29 3,5,7,8,10,12 21 32 2.0 | 31,200 75 ~ 100
5540 75027120 <120 -H| 2 27 120 | 40 M24x2 25 7 29 3,57,8,10,12 21 32 24 | 32,500 75 ~ 100
5540 75032090 -SCA32 90 -H| 2 32 90 | 46 M30x2 30 8 34 3,5,7,8,10,12 26 41 2.4 | 31,200 100 ~ 250 § A
5540 77013075 | HSK100A -SCA13 75 -H| 1 13 75 | 20 | M12x1.25 | 15 - — 3,5,7,8,10,12 12 17 43 | 37,500 50 g ?
5540 77013105 105 -H| 1 13 /105 20 | M12x125 (15| — | — 35781012 | 12 | 17 | 44 | 40,000 50 54
5540 77016090 -SCA16 90 -H| 2 16 90 | 26 | M14x15 | 16 4 17.2 | 35,7,8,10,12 13 22 4.2 | 40,000 50 ~ 63 ) ,'J
5540 77016120 120 -H| 2 16 120 | 26 | M14x15 | 16 4 17.2 | 35,7,8,10,12 13 22 4.4 | 42,500 50 ~ 63 é %
5540 77022090 -SCA22 90 -H 2 22 90 | 34 | M20x15 |21 6 236 | 357,810,112 18 30 4.4 | 40,000 60 ~ 125 -
5540 77022135 -135 -H| 2 22 135 | 34 | M20x15 | 21 6 23.6 | 35,78,10,12 18 30 4.7 | 42,500 60 ~ 125 ]
5540 77027090 -SCA27 90 -H 2 27 90 | 40 M24x2 25 7 29 3,57,8,10,12 21 32 45 | 40,000 75 ~ 100 % i
5540 77027135 135 H| 2 27 135 40 | M24x2 |25 | 7 29 35781012 | 21 | 32 | 49 | 42500 | 75~ 100 >3
5540 77032090 -SCA32 90 -H 2 32 90 | 46 M30x2 30 8 34 3,57,8,10,12 26 41 4.7 | 40,000 100 ~ 250 % L)L;
5540 77032135 -135 -H| 2 32 135 | 46 M30x2 30 8 34 3,5,7,8,10,12 26 41 5.2 | 42,500 100 ~ 250 -
5540 77040090 -SCA40 90 -H 2 40 90 | 55 M36x3 | 36 | 10 425 | 35781012 | 31 46 4.9 | 40,000 150 ~ 315
5540 77040135 135 -H| 2 40 135 | 55 M36x3 36 10 425 | 35,7,810,12 31 46 5.9 | 43,700 150 ~ 315 .
Es
HSK63A. HSK100AICIFBETI Z 2 7IVT 5V TIRHBZEWLWTLE T, HSK63A, HSK100A have manual clamp holes in the shank. "
1. Gy MNRU3,5781012% 4 ZDH 7 - EERKIHBLTVET, One clamp nut and spacers (size 3, 5, 7, 8, 10, and 12/ one each) are included.
2. J=SYMR-RARMBBLTEYETH, FERE V2RI —9—F 7 MSHIELTEY A, Coolant tube is included, although center through coolant is not possible with this model. -
=
T332 Ordering Example T332 Ordering Example
RZa7 IV S5 T7EE L (HSK40A, HSK50A) RZaT7 IV 57 T YFE (HSK63A. HSK100A)
Without manual clamping hole (HSK40A, HSK50A) With manual clamping hole (HSK63A, HSK100A) z
=
HSK40A - SCAl13 - 75 HSK63A - SCAl12.7 - 75 - H °
Y IHAR Aa—F REHLREL P PA Ara—F ZEHLRE(L) 3za7l
Shank size D1 Projection length Shank size D1 Projection length 77771 £,
With manual gy
clamping hole g g&
BHHERETAGIEEL, Specials on request

74

w
-
(6}




